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2358 Angle Fit

1. Here is the completed rectangle.
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2. 45°+a=90° Angles in a rectangle.
a=45° =
N8
76° + b = 180° o Angles on a straight line add up to 180°.
b =104° L
64° + ¢ = 180° S Angles on a straight line add up to 180°.
g = [15° v &

48° +37°+ d =95°
d =95°

Angles on a straight line add up to 180°.




2359 Approximate Solutions

1.

o

An approximate solution to 46 x 17 1s 1000.

(50 x 20 = 1000)

calculations rough calculations | rough answers
583 + 18 600 + 20 30
408 x 68 400 x 70 28000
875 + 23 900 ~+ 20 45
9% 22 80 x 20 1600
576 + 27 600 + 30 20
67 x 81 70 x 80 5600
calculations | rough calculations | rough answers
(approximations) (approximate solutions)
71 x 88 70 x 90 6300
383 + 53 400 + 50 8
49 x 48 50 x 50 2500

a) 1170 x 42 and 1200 x 40 must be wrong.
b) 1100+ 50 and 1200 + 40 would give approximate solutions.
c) 1207+ 40 would give a closer approximation.

calculations approximations approximate solutions
a) 36x 12 40x 10 400
b) 1796 + 62 1800 + 60 30
c) 1930 x°11 2000 x 10 20000
d) 1950 + 205 2000 + 200 10
Approximately £10000. calculations | approximations approximate
solutions
214 x 52 200 x 50 10000
Approximately 900 centicubes. |calculations |approximations approximate
solutions
27 x 29 30x 30 900
Approximately 25 pints of milk. | calculations |approximations approximate
solutions
485 + 22 500 + 20 25




2360 Rotational and Line Symmetry Review

Your completed Venn diagram should have the following shapes in the correct region.

shapes with shapes with

line symmetry rotational
symmetry

3. Youshould have drawn one shape in each region.
Check with your teacher that your shapes are in the correct region.

2361 Right-angle or not?

2. Angle | Right-angle
Yes

HlRl— =T (O |m|Tl0]|w ]|
Z
6]

3. Get your teacher to check that you have drawn a right-angle properly.

continued/



2361 Right-angle or not? (cont)

4.  You could have mentioned:
the corner of a book
the corner of the white board
the corner of a cupboard

the corner of the filing cabinet ...

Ask your teacher to check.

2362 Decimal Routes

Start
NP
02+13/03x10] 2x15 7+ 4 1.5x2 |07+ 0.8 3+ 2 1+25 [ 1.3x10
=15 | =3 = 3 =15 | =156
15+ 10| 4-05 7-55 18+ 5 |05+15{14x11 |45-15 1+ 2 1+ 0.05
=1.5 =1-5 —
1.14+04| 2.5-1 45+ 3 | 05+1 |10-85 |16+ 10| 3x05 |05+ 0.6 1+5
=15 =16 | =15 | =1 =15 =15
1.8~-04118-03| 52+ 2 | 6+ 3.3 0.5x6 75+ 5 |16-01] 0.5x10 | 3x0.1
=1.5 = =1|5 =1-5
04x10 123+07| 65-5 |02x15|14+14| 3x15 1+ 5 5+ 10 3x05
= =1b
6.3-3 53-2 | 0.75x2 | 1x03 |16+13|15+25(02x1.5 7+ 5 02+ 4
=15
3+ 05| 85+ 4 [12x025| 4+ 3 |01-15|35-01|13+1.2| 6+ 05 4 -3
=d
35+ 2 544 30+~ 20(08+09| 30+ 10|115+ 10| 6x02 |7.1-31 3+ 4
=15 | =156 =
End

2363 Conversion Pack 1

Card A

1 gallon= 8 pints
25 gallons = (8 x 25) pints
25 gallons = 200 pints

continued/




2363 Conversion Pack 1 (cont)

Card B
a) 2km 1) 1350cm
b) 135cm 2) 0.265km |
c) 26.5mm 3) 2000m
d) 13.5m 4) 1350mm 5
e) 265m 5) 2.65cm g.
I
Card C 1 stone = 141b
9 stone = (9 x 14)Ib
9 stone = 126lb Liz's weight is 9 stone 7lb = 126lb + 7lb = 134lb
Sam'’s weight is 160lb
Sam is heavier.
Card D 1ft = 12 inches
4ft = (4 x 12) inches
4ft = 48 inches  4ft 5 inches = (48 + 5) inches
The rug is 53 inches long.
Card E 1 litre = 1000ml

1000ml — 57ml = 943ml
There will be 943 millilitres left in the beaker.

Card F 1kg = 1000g

5kg = (5 x 1000)g

Skg = 5000g Contents of Tim’s bag
Camera 900g
Water (1.2 x 1000) 1200g
Book 350g
Crisps 75g
Wash Bag (1.4 x 1000) 1400g
Travel guide 600g

Total weight of Tim's bag = 4525g (4.525kg)
Tim’s bag is not too heavy.




2364 Decimal Playing Cards (SMILE)

This pack contains 52 cards which represent 13 different decimals,
0.04,0.08,0.1,0.16,0.25,04, 0.5, 0.62, 0.7, 0.75, 0.8, 0.92, 1.0, each in 4 ways.
»  decimal written as a number

¢  decimal written in words

*  square representation of a decimal

*  anumber line representing a decimal

You can use the playing cards with a number of SMILE activities, but inside the
pack there are some suggested games for you to play.

2365 Higher Decimal Win
You should find that the best cards to turn over are: 0.62, 0.7, 0.75, 0.8, 0.92, 1.0.

2366 Decimal Difference

You should show your results to your teacher.

2367 Sixteen Quadrilaterals

1. These are the shapes you should have found.

kite parallelogram square irregular quadrilateral

arrowhead trapezium square irregular quadrilateral

arrowhead trapezium sguare irregular quadrilateral

parallelogram trapezium rectangle irregular quadrilaleral

continued/



2367 Sixteen Quadrilaterals (cont)

2. Itis also possible to find triangles, pentagons, hexagons and heptagons on a 9 point
grid.
e.g. triangle pentagon hexagon heptagon

2368 Matching Decimals

1. 0.04,0.08,0.1,0.16,0.25, 0.4, 0.5, 0.62, 0.7, 0.75,0.8,0.92, 1.0

2. 0.8islarger.

3. 0.651is smaller.

4. 0.8 is the largest.

5. You could have written the following decimals which are used on the cards.
0.62,0.7,0.75 If you have written a different decimal, check your answer with your
teacher.

6. Some possible answers are:

0.36, 0.37, 0.38, 0.39.
If your decimal is different, check your answer with your teacher.

2369 Decimal Sort

2. Here are examples of three different decimal ‘set’s.

Word Bquamn Line 1 Humber Word Bouare
nought ,- n =l nought
point % 0 7 point
nought St . seven
P, amrbg ° ap oy oM by
Lins " Numbar Word [T
ht
0.25 o
. two
_F five
0 wmn mqury oW asnig

3. Show your completed sets to your teacher.




2370 Conversion Pack 2

Card A 1 gallon = 4.5 litres

£0.59 per litre 1 gallon costs (£0.59 x 4.5) = £2.655 = £2.66
£0.59 per litre is cheaper than £2.80 per gallon.

Card B 1 litre = 1.75 pints

1.5 litres = (1.5 x 1.75) pints = 2.625 pints
The 1.5 litre bottle contains most liquid.

Card C 1 yard = 3ft = (3 x 12) inches 1inch = 2.5cm
1 yard = 36 inches 36 inches = (36 x 2.5)cm

1 yard = 90cm
One metre is longer that one yard.

Card D 8km = 5 miles
1km = 5/8 miles

Paris = 200km = (200 x 5/8)miles = 125miles
Lille = 240km = (240 x 5/8)miles = 150 miles

Card E 1kg =2.21b

101b potatoes cost £1.19
11b potatoes costs (£1.19 + 10) = £0.119

1kg = 2.2Ib potatoes cost (2.2 x £0.119) = £0.2618
5kg cost (5 x £0.2618) = £1.309
A 5Skg bag of potatoes should cost £1.31
Card F 1kg = 1000g =~ 2.21b 11b = 160z
11Ib = (1000 + 2.2)g = 454.54g
loz = (454.54 + 16)g ~ 28.409g
60z = 170.45g

240g is enough cottage cheese for the mackerel pate.

2371 Rounding to 10

1. a) 60 b) 30 o 50 d 10
e) 80 f) 60 g 10 h) 100

2. Play the game sufficient times until you can quickly round each number to the
nearest 10.




2372 Powers of Ten Flags

1.

% E 3. x 10




2373 Queens (Micro/SfW)

Queens
Here is one arrangement of 5 Queens on an 8 by 8 chessboard, so that the Queens are
protecting every square. Your arrangement may be a reflection of the one shown.

Avoiding Each Other
Here is one arrangement of 8 Queens on an 8 x 8 chessboard so that no two Queens are
in line with each other. Your arrangement may be a reflection of the one shown.

Investigating Queens
On an 8 x 8 board, the largest number of squares which can be protected with just one

Queen is 28.

There are many questions that can be asked:
e Can a Queen protect an odd number of squares?
*  What is the smallest number of squares a Queen can protect?

Drawing and numbering the board might help you to see patterns and to decide on the
best possible position for the Queen.

26 | 28

24 | 26

To find a rule for squares it might help to look at odd and even sized boards, but it may
be easier to get a general rule for rectangles which are not square.




2374 Equivalent Fractions Pairs

1. a) Here are two different sets of equivalent fraction pairs.

6 _3 8 _4
10 5 10 5
1 4 2 6
2" 8 or 3 9

You may have found different sets of equivalent fraction pairs. If you are
unsure whether your equivalent fraction pairs are correct, check them with
your teacher.

b) 7and 9 are not used. or 1 and 7 are not used.

2. a) Thisis one set of 4 equivalent fraction pairs. You may have used the numbers
to create different equivalent fractions.

b)  The numbers not used were:
11,13, 17 and 19. All prime numbers larger that 10.

2375 Polygons in Circles

1. ¢  Z£BAC =60° because isometric paper is created from equilateral triangles.
ZABC = 30° because angles of a triangle add up to 180°.

B .

2. a) Equilateral triangle b) Isosceles triangle

continued /



2375 Polygons in Circles (cont)

c)  Arectangle d) Atrapezium

e)

f)  Arhombus

3.  If your polygons are similar to those given in question 2, all the shapes are cyclic
except:

the equilateral triangle with one vertex at the centre of the circle.

the isosceles triangle with one vertex at the centre of the circle.

the arrowhead

the rhombus

the irregular hexagon

the pentagon with one vertex at the centre of the circle.

e @ o o o o




2376 Maths in Your Head (SMILE)

No answers required

2377 TenSprint(SfW)

You may have played the game against the clock. Well done if you managed to run the
200m race in less than 3 minutes.

If the five dice showed these numbers, you could make 6 lots of 10.

2378 Matching Fractions(SfW)

Well done if you managed to score more than 40, especially if you scored this
on Level 2.

2379 Ordering Fractions (SfW)

Well done if you managed to score more than 40, especially if you scored this
on Level 2.

2380 NumberLines (5fW)

Well done if you managed to score 10 out of 10 in all five levels and claim your
SMILE NumberLine Certificate.

2381 NumberLinesD (5fW)

Well done if you managed to score 10 out of 10 in all five levels and claim your
SMILE NumberLineD Certificate.

© RBKC SMILE 1999
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2358 Angle Fit

Here is the completed rectangle.
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2. 45°+a=90° Angles in a rectangle.
a=45° -
\2
0
76° + b = 180° /< Angles on a straight line add up to 180°.
b =104° S

64° + ¢ = 180° - Angles on a straight line add up to 180°.
c=116° o

48° + 37° +d = 95° Angles on a straight line add up to 180°.
d =95°




2359 Approximate Solutions

1.

4.

o

An approximate solution to 46 x 17 is 1000.

(50 x 20 = 1000)

calculations rough calculations | rough answers
583 + 18 600 + 20 30
408 x 68 400x 70 28000
875 + 23 500 +~ 20 45
o x2 80 x 20 1600
576 +27 600 - 30 20
67 x 81 70 x 80 5600
calculations | rough calculations | rough answers
(approximations) (approximate solutions)
71 x 88 70 x 90 6300
383+ 3 400 + 50 8
49 x 48 50 x 50 2500

a) 1170 x 42 and 1200 x 40 must be wrong.

b) 1100 + 50 and 1200 + 40 would give approximate solutions.

c) 1200 + 40 would give a closer approximation.

calculations approximations approximate solutions
a) 36 x 12 40 x 10 400
b) 1796 + 62 1800 + 60 30
c) 1950 11 2000 x 10 20000
d) 1950 + 205 2000 + 200 10
Approximately £10000. calculations | approximations approximate
solutions
214 x 52 200 x 50 10000
Approximately 900 centicubes. |calculations |approximations approximate
solutions
27 x. 29 30 x 30 900
Approximately 25 pints of milk. | calculations |approximations approximate
solutions
485+ 22 500 + 20 25




2360 Rotaticnal and Line Symmetry Review

Your completed Venn diagram should have the following shapes in the correct region.

shapes with
line symmetry

125
A

shapes with
rotational
symmetry

)

3

You should have drawn one shape in each region.
Check with your teacher that your shapes are in the correct region.

2361 Right-angle or not?

2

8.

Angle | Right-angle
Yes

SR~~~ RO 0|a|O|0|o|>
Z
@]

Get your teacher to check that you have drawn a right-angle properly.

continued /




2361 Right-angle or not? (cont)

4. You could have mentioned:

° the corner of a book

o the corner of the white board

g the corner of a cupboard

° the corner of the filing cabinet ...

Ask your teacher to check.

2362 Decimal Routes

Start

~
02+13]03x10| 2x1.5 7+ 4 15x2 |07+0.8 3+ 2 1425 | 1.3x10
=15 | =3 = ) =15 | =156
15+ 10| 4-0.5 7—-55 18+ 5 |05+15|14x11 (45-15 1+ 2 1+ 0.05
=1,5 =1.5 =
1.1+04| 256-1 45+ 3 | 05+1 |10-85| 16+ 10| 3x0.5 |05+ 0.6 1+5
— 1.5 = 1.5 = 1-5 - 1-5 = 1.5 — 1.5

1.8-04(18-03] 52+ 2| 6+33 | 05x6 | 756+ 5 |16-01(05x10| 3x0.1

=15 =9 =15 | =156
04x10|23+0.7| 656—-5 [0.2x15|14+14| 3x1.5 1+ 5 5+ 10 3x05
=3 =15
63-3 53-2 | 0.75x2 | 1x03 |16+13[15+25|0.2x1.5 7+ 5 02+ 4
=15
3- 05| 65+ 4 |12x025| 4+ 3 |01-15|35-01(13+12| 6+ 05 4 -3
=
35+ 2 5+4 30+ 20 |06+09| 30+ 10 |115+ 10| 6x0.2 |{7.1-3.1 3+ 4
=1, =15 =
End

2363 Conversion Pack 1

Card A
1 gallon = 8 pints
25 gallons = (8 x 25) pints
25 gallons = 200 pints

continued/



2363 Conversion Pack 1 (cont)

Card B
a) 2km 1} 1350cm
b) 135¢m 2) 0.265km
¢) 26.5mm 3) 2000m g
d) 13.5m 4) 1350mm |
g) 2656m 5) 2.65cm
Card C 1stone = 141b
9 stone = (9 x 14)Ib
9 stone = 126lb Liz’s weight is 9 stone 7lb = 1261b + 71b = 134lb
Sam’s weight is 160lb
Sam is heavier.
Card D 1ft = 12 inches
4ft = (4 x 12) inches
4ft =48 inches  4ft 5 inches = (48 + 5) inches
The rug is 53 inches long.
Card E 1 litre = 1000ml

1000ml - 57ml = 943ml
There will be 943 millilitres left in the beaker.

Card F 1kg = 1000g

Skg = (5 x 1000)g

Skg =5000g Contents of Tim’s bag
Camera 900g
Water (1.2 x 1000) 1200g
Book 350g
Crisps 75g
Wash Bag (1.4 x 1000) 1400g
Travel guide 600g

Total weight of Tim's bag = 4525g (4.525kg)
Tim’s bag is not too heavy.




2364 Decimal Playing Cards (SMILE)

This pack contains 52 cards which represent 13 different decimals,
0.04,0.08,0.1,0.16,0.25,0.4,0.5,0.62,0.7,0.75, 0.8, 0.92, 1.0, each in 4 ways.
e  decimal written as a number

e decimal written in words

e  square representation of a decimal

e anumber line representing a decimal

You can use the playing cards with a number of SMILE activities, but inside the
pack there are some suggested games for you to play.

2365 Higher Decimal Win

You should find that the best cards to turn over are: 0.62, 0.7, 0.75, 0.8, 0.92, 1.0.

2366 Decimal Difference

You should show your results to your teacher.

2367 Sixteen Quadrilaterals

1. These are the shapes you should have found.

kite parallelogram square irregular quadrilateral

arrowhead trapezium square irregular quadrilateral

arrowhead trapezium square irregular quadrilateral

parallelogram trapezium rectangle irregular quadrilaleral

continued /



2367 Sixteen Quadrilaterals (cont)

2. Itis also possible to find triangles, pentagons, hexagons and heptagons on a 9 point
grid.
e.g. triangle pentagon hexagon heptagon

2368 Matching Decimals

1. 0.04,0.08,0.1,0.16, 0.25, 04, 0.5, 0.62, 0.7,0.75, 0.8, 0.92, 1.0

2. 0.8islarger.

3. 0.65is smaller.

4. 0.8 is the largest.

5. You could have written the following decimals which are used on the cards.
0.62,0.7, 0.75 If you have written a different decimal, check your answer with your
teacher.

6. Some possible answers are:

Q.d6; 037,038, 0.39,
If your decimal is different, check your answer with your teacher.

2369 Decimal Sort

2. Here are examples of three different decimal “set’s.

Lina f Numiser Word Squrs Uns 4 Number Word By
|| B e oy
0.04 nought = 0.7 :Btijgl"l
M mquny ROM by LR —— — ity
Lne 1 Mumbar Word B
"o
0.25 i
_F fve
=1 QU P, amnbyg

3. Show your completed sets to your teacher.




2370 Conversion Pack 2

Card A 1 gallon = 4.5 litres

£0.59 per litre 1 gallon costs (£0.59 x 4.5) = £2.655 = £2.66
£0.59 per litre is cheaper than £2.80 per gallon.

Card B 1 litre = 1.75 pints

1.5 litres = (1.5 x 1.75) pints = 2.625 pints
The 1.5 litre bottle contains most liquid.

Card C 1 yard = 3ft = (3 x 12) inches 1 inch = 2.5cm
1 yard = 36 inches 36 inches = (36 x 2.5)cm

1 yard = 90cm
One metre is longer that one yard.

Card D 8km = 5 miles
1km = 5/8 miles

Paris = 200km = (200 x 5/8)miles =~ 125miles
Lille = 240km = (240 x 5/8)miles = 150 miles

Card E 1kg =2.21b

101b potatoes cost £1.19
11b potatoes costs (£1.19 + 10) = £0.119

1kg = 2.2lb potatoes cost (2.2 x £0.119) = £0.2618
5kg cost (5 x £0.2618) = £1.309
A 5Skg bag of potatoes should cost £1.31
Card F 1kg = 1000g = 2.21b 11b = 160z

11b = (1000 + 2.2)g = 454.54g
loz = (454.54 + 16)g ~ 28.409g
6oz = 170.45g

240g is enough cottage cheese for the mackerel pate.

2371 Rounding to 10

1. a) 60 b) 30 ¢ 50 d) 10
e) 80 f) 60 g 10 h) 100

2. Play the game sufficient times until you can quickly round each number to the

nearest 10.




2372 Powers of Ten Flags

1.




2373 _Queens (Micro /SfW)

Queens
Here is one arrangement of 5 Queens on an 8 by 8 chessboard, so that the Queens are
protecting every square. Your arrangement may be a reflection of the one shown.

Avoiding Each Other
Here is one arrangement of 8 Queens on an 8 x 8 chessboard so that no two Queens are

in line with each other. Your arrangement may be a reflection of the one shown.

Investigating Queens
On an 8 x 8 board, the largest number of squares which can be protected with just one

Queen is 28.

There are many questions that can be asked:
*  Can a Queen protect an odd number of squares?
e  What is the smallest number of squares a Queen can protect?

Drawing and numbering the board might help you to see patterns and to decide on the
best possible position for the Queen.

26 | 28

24 | 26

To find a rule for squares it might help to look at odd and even sized boards, but it may
be easier to get a general rule for rectangles which are not square.




2374 Equivalent Fractions Pairs

1. a) Here are two different sets of equivalent fraction pairs.

b
0

| 0

o w
]
o~

—
—
o

|~

Wl
]

olm

M=

or
You may have found different sets of equivalent fraction pairs. If you are
unsure whether your equivalent fraction pairs are correct, check them with
your teacher.

b) 7 and 9 are not used. or 1 and 7 are not used.

2. a) Thisis one set of 4 equivalent fraction pairs. You may have used the numbers
to create different equivalent fractions.

b)  The numbers not used were:
11, 13, 17 and 19. All prime numbers larger that 10.

2375 Polygons in Circles

1. ¢ £BAC =60° because isometric paper is created from equilateral triangles.
ZABC = 30° because angles of a triangle add up to 180°.

Z a) Equilateral triangle b)  Isosceles triangle

continued /



2375 Polygons in Circles (cont)

c)  Arectangle d) Atrapezium

e) f)  Arhombus

g)

h)

3. If your polygons are similar to those given in question 2, all the shapes are cyclic
except:

the equilateral triangle with one vertex at the centre of the circle.

the isosceles triangle with one vertex at the centre of the circle.

the arrowhead

the rhombus

the irregular hexagon

the pentagon with one vertex at the centre of the circle.




2376 Maths in Your Head (SMILE)

No answers required

2377 TenSprint(SfW)

You may have played the game against the clock. Well done if you managed to run the
200m race in less than 3 minutes.

If the five dice showed these numbers, you could make 6 lots of 10.

2378 Matching Fractions(SfW)

Well done if you managed to score more than 40, especially if you scored this
on Level 2.

2379 Ordering Fractions (SfW)

Well done if you managed to score more than 40, especially if you scored this
on Level 2.

2380 NumberLines (SfW)

Well done if you managed to score 10 out of 10 in all five levels and claim your
SMILE NumberLine Certificate.

2381 NumberLinesD (SfW)

Well done if you managed to score 10 out of 10 in all five levels and claim your
SMILE NumberLineD Certificate.

© RBKC SMILE 1999
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2358 Angle Fit

1. Here is the completed rectangle.
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2. 45°+a=90° Angles in a rectangle.
a=45° ~
N2
o
76° + b = 180° o Angles on a straight line add up to 180°.
b =104° il
64° + ¢ = 180° —— Angles on a straight line add up to 180°.
o= 116° il

48° + 37° + d = 95°
d =956°

Angles on a straight line add up to 180°.




2359 Approximate Solutions

&,

An approximate solution to 46 x 17 is 1000.

(50 x 20 = 1000)

calculations rough calculations | rough answers
583 +~ 18 600 + 20 30
408 x 68 400 x 70 28000
875 + 23 900 + 20 45
79x 22 80 x 20 1600
576 + 27 600 + 30 20
67 x 81 70 x 80 5600
calculations | rough calculations | rough answers
(approximations) (approximate solutions)
71 x 88 70 x 90 6300
585 +53 400 + 50 8
49 x 48 50 x 50 2500

a) 1170 x 42 and 1200 x 40 must be wrong.

b) 1100+ 50 and 1200 + 40 would give approximate solutions.

c) 1200 +40 would give a closer approximation.

calculations approximations approximate solutions
a) 36x 12 40 x 10 400
b) 1796 + 62 1800 + 60 30
c) 1950 x 11 2000 x 10 20000
d) 1950 + 205 2000 =200 10
Approximately £10000. calculations | approximations approximate
solutions
214 x 52 200 x 50 10000
Approximately 900 centicubes. |calculations |approximations approximate
solutions
27 x 29 30 x 30 900
Approximately 25 pints of milk. | calculations |approximations approximate
solutions
485+ 22 500+ 20 25




2360 Rotational and Line Symmetry Review

Your completed Venn diagram should have the following shapes in the correct region.

shapes with shapes with

line symmetry rotational
symmetry

3. You should have drawn one shape in each region.
Check with your teacher that your shapes are in the correct region.

2361 Right-angle or not?

2. Angle | Right-angle
Yes

Yes

Z
@]

3. Get your teacher to check that you have drawn a right-angle properly.

continued /



2361 Right-angle or not? (cont)

4.  You could have mentioned:
the corner of a book
the corner of the white board
the corner of a cupboard

the corner of the filing cabinet ...

Ask your teacher to check.

2362 Decimal Routes

Start
\/
02+13]03x10| 2x1.5 7+ 4 15x2 |0.7+08] 3+ 2 1+25 | 1.3x10
=15 | =3 ~ 3 =15 | =1b
15+ 10| 4-05 7-55 18+ 5 [05+15|14x11 |45—-15 1.2 12 1+ 0.05
=15 =15 =
1.1+04| 25-1 45+ 3| 05+1 [10-85] 16+ 10| 3x05 (05+0.6 1+5
—1.5 =1,5 =1l5 =L =1n5 =1.5
18-04118-03]| 52+ 2 | 6+ 33 0.5x6 75+ 5 116-01]105x10| 3x01
=15 =3 =15 | =156
04x10 |23+07| 65-5 |02x15]|14+14]| 3x1.5 1+ 5 5+ 10 3x05
=3 =1b
6.3—-3 53-2 | 0.75x2 | 1x03 [16+13|15+25|02x1.5 7+ 5 02+ 4
=15
3+~ 05 65+ 4 |12x025| 4+ 3 |01-15{35-01|13+1.2| 6+ 05 4-3
=9
35+ 2 5+ 4 A0D+-20/06+09| 30+ 10 |115= 10 6x0.2 |71-31 3+ 4
=1. =15 =
End

2363 Conversion Pack 1

Card A

1 gallon = 8 pints
25 gallons = (8 x 25) pints
25 gallons = 200 pints

continued/




2363 Conversion Pack 1 (cont)

Card B
a) 2km = 1) 1350cm
b) 135cm 2) 0.265km
c) 26.5mm
d)13.5m ¢
e) 265m
Card C 1 stone = 141b
9 stone = (9 x 14)Ib
9 stone = 1261b Liz’s weight is 9 stone 7lb = 126lb + 7Ib = 134lb
Sam’s weight is 160Ib
Sam is heavier.
Card D 1ft = 12 inches
4ft = (4 x 12) inches
4ft =48 inches  4ft 5 inches = (48 + 5) inches
The rug is 53 inches long.
Card E 1 litre = 1000ml

1000ml - 57ml = 943ml
There will be 943 millilitres left in the beaker.

Card F 1kg = 1000g

5kg = (5 x 1000)g

5kg = 5000g Contents of Tim’s bag
Camera 900g
Water (1.2 x 1000) 1200g
Book 350g
Crisps 75g
Wash Bag (1.4 x 1000) 1400g
Travel guide 600g

Total weight of Tim's bag = 4525g (4.525kg)
Tim’s bag is not too heavy.




2364 Decimal Playing Cards (SMILE)

This pack contains 52 cards which represent 13 different decimals,
0.04,0.08,0.1,0.16,0.25, 0.4, 0.5, 0.62, 0.7, 0.75, 0.8, 0.92, 1.0, each in 4 ways.
e  decimal written as a number

e decimal written in words

e  square representation of a decimal

e anumber line representing a decimal

You can use the playing cards with a number of SMILE activities, but inside the
pack there are some suggested games for you to play.

2365 Higher Decimal Win

You should find that the best cards to turn over are: 0.62, 0.7, 0.75, 0.8, 0.92, 1.0.

2366 Decimal Difference

You should show your results to your teacher.

2367 Sixteen Quadrilaterals

1. These are the shapes you should have found.

kite

arrowhead

arrowhead

parallelogram

parallelogram square irregular quadrilateral

trapezium square irregular quadrilateral

trapezium square irregular quadrilateral

trapezium rectangle irregular quadrilaleral

continued/



2367 Sixteen Quadrilaterals (cont)

2.

It is also possible to find triangles, pentagons, hexagons and heptagons on a 9 point
grid.
e.g. triangle pentagon hexagon heptagon

2368 Matching Decimals

1.

2

0.04; 0,08,0.1,0.16,0.25,04, 0.5,0.62,0.7,0.75,0.8,0.92, 1.0
0.8 is larger.

0.65 is smaller.

0.8 is the largest.

You could have written the following decimals which are used on the cards.
0.62, 0.7, 0.75 If you have written a different decimal, check your answer with your
teacher.

Some possible answers are:
0.36,0.37, 0.38, 0.39.
If your decimal is different, check your answer with your teacher.

2369 Decimal Sort

2.

3.

Here are examples of three different decimal “set’s.

ne 1 Namber Word Squrs [T Humber Word e
nought @ —— nought
int ke
004 n%égm —"*r"* 0.7 5'3,‘:}2‘,.
we g Mumber Word By

0 an Joquiny [ anig

Show your completed sets to your teacher.




2370 Conversion Pack 2

Card A 1 gallon = 4.5 litres

£0.59 per litre 1 gallon costs (£0.59 x 4.5) = £2.655 = £2.66
£0.59 per litre is cheaper than £2.80 per gallon.

Card B 1 litre = 1.75 pints

1.5 litres = (1.5 x 1.75) pints = 2.625 pints
The 1.5 litre bottle contains most liquid.

Card C 1 yard = 3ft = (3 x 12) inches 1inch = 2.5cm
1 yard = 36 inches 36 inches = (36 x 2.5)cm

1 yard = 90cm
One metre is longer that one yard.

Card D 8km = 5 miles
1km = 5/8 miles

Paris = 200km = (200 x 5/8)miles = 125miles
Lille = 240km = (240 x 5/8)miles = 150 miles

Card E 1kg =2.21b

101b potatoes cost £1.19
1Ib potatoes costs (£1.19 + 10) = £0.119

1kg = 2.21b potatoes cost (2.2 x £0.119) = £0.2618
5kg cost (5 x £0.2618) = £1.309
A Bkg bag of potatoes should cost £1.31
Card F 1kg = 1000g = 2.21b 11b = 160z
1Ib = (1000 + 2.2)g = 454.54g
loz = (454.54 + 16)g = 28.409¢g
60z = 170.45g

240g is enough cottage cheese for the mackerel pate.

2371 Rounding to 10

1. a) 60 b) 30 c) 50 d) 10
e) 80 f) 60 g) 10 h) 100

2. Play the game sufficient times until you can quickly round each number to the
nearest 10.




2372 Powers of Ten Flags

1.




2373 Queens (Micro/SfW)

Queens
Here is one arrangement of 5 Queens on an 8 by 8 chessboard, so that the Queens are
protecting every square. Your arrangement may be a reflection of the one shown.

Avoiding Each Other
Here is one arrangement of 8 Queens on an 8 x 8 chessboard so that no two Queens are
in line with each other. Your arrangement may be a reflection of the one shown.

Investigating Queens
On an 8 x 8 board, the largest number of squares which can be protected with just one

Queen is 28.

There are many questions that can be asked:
e  Cana Queen protect an odd number of squares?
e What is the smallest number of squares a Queen can protect?

Drawing and numbering the board might help you to see patterns and to decide on the
best possible position for the Queen.

26| 28

24 {26

To find a rule for squares it might help to look at odd and even sized boards, but it may
be easier to get a general rule for rectangles which are not square.




2374 Equivalent Fractions Pairs

1. a) Here are two different sets of equivalent fraction pairs.

6
0

I
(S H N

Ul w
S|

—

wln
i
{ol o))

=ﬂ‘.
8

N —

or
You may have found different sets of equivalent fraction pairs. If you are
unsure whether your equivalent fraction pairs are correct, check them with
your teacher.

b) 7and 9 are not used. or 1 and 7 are not used.

2. a) Thisis one set of 4 equivalent fraction pairs. You may have used the numbers
to create different equivalent fractions.

b)  The numbers not used were:
11,13, 17 and 19. All prime numbers larger that 10.

2375 Polygons in Circles

1. ¢  £BAC =60°because isometric paper is created from equilateral triangles.
ZABC = 30° because angles of a triangle add up to 180°.

B .

2. a) Equilateral triangle b) Isosceles triangle

continued /



2375 Polvgons in Circles (cont)

c) Arectangle d) Atrapezium

e) f)  Arhombus

3. If your polygons are similar to those given in question 2, all the shapes are cyclic
except: :

the equilateral triangle with one vertex at the centre of the circle.

the isosceles triangle with one vertex at the centre of the circle.

the arrowhead

the rhombus

the irregular hexagon

the pentagon with one vertex at the centre of the circle.




2376 Maths in Your Head (SMILE)

No answers required

2377 TenSprint(SfW)

You may have played the game against the clock. Well done if you managed to run the
200m race in less than 3 minutes.

If the five dice showed these numbers, you could make 6 lots of 10.

2378 Matching Fractions(SfW)

Well done if you managed to score more than 40, especially if you scored this
on Level 2.

2379 Ordering Fractions (SfW)

Well done if you managed to score more than 40, especially if you scored this
on Level 2.

2380 NumberLines (SfW)

Well done if you managed to score 10 out of 10 in all five levels and claim your
SMILE NumberLine Certificate.

2381 NumberLinesD (SfW)

Well done if you managed to score 10 out of 10 in all five levels and claim your
SMILE NumberLineD Certificate.

© RBKC SMILE 1999
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2358 Angle Fit

1. Here is the completed rectangle.

oObl ?Q' : OQQ
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o> S X8
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2. 45°+a=90° Angles in a rectangle.
a=45° 3

76° + b= 180° o Angles on a straight line add up to 180°.
b =104° o3

64° + ¢ =180° —— Angles on a straight line add up to 180°.
c=116° i

48° + 37° +d =95° ,‘g\w Angles on a straight line add up to 180°.

d =95° \ o




2359 Approximate Solutions

1.

An approximate solution to 46 x 17 is 1000.

(50 x 20 = 1000)

calculations rough calculations | rough answers
- 583 +18 600 + 20 30
408 x 68 400 x 70 28000
875 + 23 900 + 20 45
9% 22 80 x 20 1600
576 + 27 600 + 30 20
67 x 81 70 x 80 5600
calculations | rough calculations | rough answers
(approximations) (approximate solutions)
71 x 88 70 x 90 6300
383 + 53 400 + 50 8
49 x 48 50 x 50 2500

a) 1170 x 42 and 1200 x 40 must be wrong.
b) 1100 + 50 and 1200 + 40 would give approximate solutions.
c) 1200 =40 would give a closer approximation.

calculations approximations approximate solutions
a) 8% 12 40 x 10 400
b) 1796 + 62 1800 + 60 30
c) J9505 11 2000 x 10 20000
d) 1950 + 205 2000 + 200 10
Approximately £10000. calculations | approximations approximate
solutions
214 x 52 200 x 50 10000
Approximately 900 centicubes. |calculations |approximations approximate
solutions
27 x 29 30x 30 900
Approximately 25 pints of milk. | calculations |approximations approximate
solutions
485 + 22 500 = 20 25




2360 Rotational and Line Symmetry Review

Your completed Venn diagram should have the following shapes in the correct region.

shapes with
rotational
symmetry

shapes with
line symmetry

3. You should have drawn one shape in each region.
Check with your teacher that your shapes are in the correct region.

2361 Right-angle or not?

2. Angle | Right-angle
Yes
No

Z
Q

3. Get your teacher to check that you have drawn a right-angle properly.

continued /



2361 Right-angle or not? (cont)

4.  You could have mentioned:

° the corner of a book

° the corner of the white board

° the corner of a cupboard

° the corner of the filing cabinet ...

Ask your teacher to check.

2362 Decimal Routes

Start

Y
02+13|03x10| 2x1.5 7+ 4 15x2 |07+08] 3+ 2 1+25 | 13x10
w15 | = o 3 |=15 | =15
15+ 10| 4-05 | 7-55 | 18+ 5 05+1.5|14x11 |45-15] 1+ 2 |1+0.05
—1.5 =1'5 =
1.1 + 05 [05+06| 1+5

04| 256-1 |45+ 3| 0541 |10-85| 16+ 10| 3
5| =15 | =15 | =15 | =15 =

1.8-04[18-03| 52+ 2 | 64+ 3.3 0.5x6 75+ 5 [16-01|058x10| 3x0.1
=15 =3 =15 | =156

04x10 |23+0.7| 65-5 |02x15(14+14] 3x15 1+ 5 5+ 10 | 3x05

6.3-3 53-2 |075x2 | 1x03 |16+1.3|15+25|02x1.5 7+ 5 02+ 4
=15

3+ 05| 65+ 4 12x025 4+ 3 |01-~-15[35-01(13+12| 6+ 05 4-3

35+ 2 5+4 | 30+ 20|06

—
P2 =

8|3+ 10 115+ 10 6x02 (71-31| 3+ 4

End

2363 Conversion Pack 1

Card A
1gallon = 8 pints
25 gallons = (8 x 25) pints
25 gallons = 200 pints

continued /



2363 Conversion Pack 1 (cont)

Card B
a) 2km 1) 1350cm
b) 135cm 2) 0.265km
c) 26.5mm 3) 2000m
d) 13.5m 4) 1350mm |
e) 265m 5)2.65cm |
Card C 1 stone = 14lb
9 stone = (9 x 14)Ib
9 stone = 126lb Liz’s weight is 9 stone 7lb = 126lb + 71b = 134lb
Sam'’s weight is 160lb
Sam is heavier.
Card D 1ft = 12 inches
4ft = (4 x 12) inches
4ft = 48 inches  4ft 5 inches = (48 + 5) inches
The rug is 53 inches long.
Card E 1 litre = 1000ml

1000ml - 57ml = 943ml
There will be 943 millilitres left in the beaker.

Card F 1kg =1000g

Skg = (5 x 1000)g

5kg = 5000g Contents of Tim's bag
Camera 900g
Water (1.2 x 1000) 1200g
Book 350g
Crisps 75g
Wash Bag (1.4 x 1000) 1400g
Travel guide 600g

Total weight of Tim's bag = 4525g (4.525kg)
Tim's bag is not too heavy.




2364 Decimal Playing Cards (SMILE)

This pack contains 52 cards which represent 13 different decimals,

0.04, 0.08, 0.1, 0.16, 0.25, 0.4, 0.5, 0.62, 0.7, 0.75, 0.8, 0.92, 1.0, each in 4 ways.

e  decimal written as a number
decimal written in words

[ ]
e  square representation of a decimal
o a number line representing a decimal

You can use the playing cards with a number of SMILE activities, but inside the
pack there are some suggested games for you to play.

2365 Higher Decimal Win

You should find that the best cards to turn over are: 0.62, 0.7, 0.75, 0.8, 0.92, 1.0.

2366 Decimal Difference

You should show your results to your teacher.

2367 Sixteen Quadrilaterals

1. These are the shapes you should have found.

kite

arrowhead

arrowhead

parallelogram

parallelogram

trapezium

trapezium

trapezium

square irregular quadrilateral

square irregular quadrilateral

sguare irregular quadrilateral

rectangle irregular quadrilaleral

continued /



2367 Sixteen Quadrilaterals (cont)

2. Itis also possible to find triangles, pentagons, hexagons and heptagons on a 9 point
grid.
e.g. triangle pentagon hexagon heptagon

2368 Matching Decimals

1. 0.04,0.08,0.1,0.16,0.2504,605,0.62,0.7,0.75,0.8,092, 1.0
2. 0.8islarger.

3. 0.65is smaller.

4. 0.8is the largest.

5. You could have written the following decimals which are used on the cards.
0.62,0.7,0.75 If you have written a different decimal, check your answer with your
teacher.

6. Some possible answers are:

0.36, 0.37, 0.38, 0.39.
If your decimal is different, check your answer with your teacher.

2369 Decimal Sort

2. Here are examples of three different decimal ‘set’s.

e nought

int
0.7 || &

wn sy pow wmbg
Lo 1 Mumbar Woed B
ht
0.25 |
_F five
0 wn Uy oM iy

3. Show your completed sets to your teacher.




2370 Conversion Pack 2

Card A 1 gallon = 4.5 litres

£0.59 per litre 1 gallon costs (£0.59 x 4.5) = £2.655 = £2.66
£0.59 per litre is cheaper than £2.80 per gallon.

Card B 1 litre = 1.75 pints

1.5 litres = (1.5 x 1.75) pints = 2.625 pints
The 1.5 litre bottle contains most liquid.

Card C 1 yard = 3ft = (3 x 12) inches 1inch = 2.5cm
1 yard = 36 inches 36 inches = (36 x 2.5)cm

1 yard = 90cm
One metre is longer that one yard.

Card D 8km = 5 miles
1km = 5/8 miles

Paris = 200km = (200 x 5/8)miles = 125miles
Lille = 240km = (240 x 5/8)miles = 150 miles

Card E 1kg =~2.21b

101b potatoes cost £1.19
11b potatoes costs (£1.19 + 10) = £0.119

1kg = 2.2]b potatoes cost (2.2 x £0.119) = £0.2618
Skg cost (5 x £0.2618) = £1.309
A 5kg bag of potatoes should cost £1.31
Card F 1kg = 1000g = 2.21b 11b = 160z
11b = (1000 + 2.2)g = 454.54g
loz =~ (454.54 + 16)g =~ 28.409g
6oz = 170.45¢g

240g is enough cottage cheese for the mackerel pate.

2371 Rounding to 10

1. a) 60 b) 30 o 50 d) 10
e) 80 £ 60 g 10 h) 100

2. Play the game sufficient times until you can quickly round each number to the

nearest 10.




2372 Powers of Ten Flags

1




2373 Queens (Micro/SfW)

Queens
Here is one arrangement of 5 Queens on an 8 by 8 chessboard, so that the Queens are

protecting every square. Your arrangement may be a reflection of the one shown.

®

Avoiding Each Other
Here is one arrangement of 8 Queens on an 8§ x 8 chessboard so that no two Queens are
in line with each other. Your arrangement may be a reflection of the one shown.

Investigating Queens
On an 8 x 8 board, the largest number of squares which can be protected with just one

Queen is 28.

There are many questions that can be asked:
¢  Can a Queen protect an odd number of squares?
o What is the smallest number of squares a Queen can protect?

Drawing and numbering the board might help you to see patterns and to decide on the
best possible position for the Queen.

26 | 28

24| 26

To find a rule for squares it might help to look at odd and even sized boards, but it may
be easier to get a general rule for rectangles which are not square.




2374 Equivalent Fractions Pairs

1. a) Here are two different sets of equivalent fraction pairs.

2
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|

| w

k.

—t
(i

Il
SIES

"
8

N | =
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or
You may have found different sets of equivalent fraction pairs. If you are
unsure whether your equivalent fraction pairs are correct, check them with
your teacher.

b) 7 and 9 are not used. or 1 and 7 are not used.

2. a) Thisis one set of 4 equivalent fraction pairs. You may have used the numbers
to create different equivalent fractions.

b)  The numbers not used were:
11, 13, 17 and 19. All prime numbers larger that 10.

2375 Polygons in Circles

1. ¢  £BAC = 60° because isometric paper is created from equilateral triangles.
£ABC = 30° because angles of a triangle add up to 180°.

B .

2. a) Equilateral triangle b) Isosceles triangle

continued /



2375 Polygons in Circles (cont)

c) Arectangle d) Atrapezium

e)

f)  Arhombus

3. If your polygons are similar to those given in question 2, all the shapes are cyclic
except:

the equilateral triangle with one vertex at the centre of the circle.

the isosceles triangle with one vertex at the centre of the circle.

the arrowhead

the thombus

the irregular hexagon

the pentagon with one vertex at the centre of the circle.




2376 Maths in Your Head (SMILE)

No answers required

2377 TenSprint(S{W)

You may have played the game against the clock. Well done if you managed to run the
200m race in less than 3 minutes.

If the five dice showed these numbers, you could make 6 lots of 10.

2378 Matching Fractions(SfW)

Well done if you managed to score more than 40, especially if you scored this
on Level 2.

2379 Ordering Fractions (SfW)

Well done if you managed to score more than 40, especially if you scored this
on Level 2.

2380 NumberLines (SfW)

Well done if you managed to score 10 out of 10 in all five levels and claim your
SMILE NumberLine Certificate.

2381 NumberLinesD (SfW)

Well done if you managed to score 10 out of 10 in all five levels and claim your
SMILE NumberLineD Certificate.

© RBKC SMILE 1999
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2358 Angle Fit

1. Here is the completed rectangle.
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2. 45°+a=90° Angles in a rectangle.
a=45°
N8
76° + b = 180° o Angles on a straight line add up to 180°.
b = 104° oL
64° + c = 180° = Angles on a straight line add up to 180°.
e= 116° )

48° + 37° +d =95°
d =95°

Angles on a straight line add up to 180°.




2359 Approximate Solutions

1.

An approximate solution to 46 x 17 is 1000.

(50 x 20 = 1000)

calculations rough calculations | rough answers
583+ 18 600 + 20 30
408 x 68 400 x 70 28000
875+ 23 900 + 20 45
79 % 22 80 x 20 1600
576+ 27 600 + 30 20
67 x 81 70 x 80 5600
calculations | rough calculations | rough answers
(approximations) (approximate solutions)
71 x 88 70 x 90 6300
383 + 53 400 + 50 8
49 x 48 50 x 50 2500

a) 1170 x 42 and 1200 x 40 must be wrong.

b) 1100+ 50 and 1200 + 40 would give approximate solutions.
c) 1200 + 40 would give a closer approximation.

calculations approximations approximate solutions
a) 36x 12 40x 10 400
b) 1796 + 62 1800 + 60 30
c) 1950 x 11 2000 x 10 20000
d) 1950 + 205 2000 = 200 10
Approximately £10000. calculations | approximations approximate
solutions
214 x 52 200 x 50 10000
Approximately 900 centicubes. |calculations |approximations approximate
solutions
27 %29 30x 30 900
Approximately 25 pints of milk. | calculations |approximations | approximate
solutions
485 + 22 500 + 20 25




2360 Rotational and Line Symmetrv Review

Your completed Venn diagram should have the following shapes in the correct region.

shapes with shapes with

line symmetry rotational
symmetry

3. You should have drawn one shape in each region.
Check with your teacher that your shapes are in the correct region.

2361 Right-angle or not?

2, Angle | Right-angle
Yes

FlRl= |~ H|O0 = >
Z
(@]

3. Get your teacher to check that you have drawn a right-angle properly.

continued/



2361 Right-angle or not? (cont)

4.

You could have mentioned:

the corner of a book
the corner of the white board
the corner of a cupboard

the corner of the filing cabinet ...

Ask your teacher to check.

2362 Decimal Routes

Start
N
02+1.3|03x10| 2x1.5 7+ 4 16x2 |07+08| 3+ 2 1+25 | 1.3x10
=15 | =53 - 3 =15 =15
15+ 10| 4-05 7-55 18+ 5 [05+15(14x11 |45-15 1+ 2 1+ 0.05
=15 =1. =
11+04| 25-1 45+ 3| 05+1 [|10-85| 16+ 10| 3x05 |05+ 0.6 1+5
- 1.5 - 1.5 = 105 = 1-5 = 1-5 = 1.5
1.8-04|118-03| 52+ 2 | 6+33 0.5x6 75+ 5 [16-01]05x10| 3x0.1
=1-5 =5 = l. = |
04x10 |23 +07| 65-5 |02x15|14+14| 3x15 1+ 5 5+ 10 3x05
=3 =1b
6.3—-3 53-2 | 075x2| 1x03 |[16+13{15+25{02x1.5 7+ 5 02+ 4
=15
3+ 05| 65+ 4 112x025| 4+ 3 |01-15|35-01|13+1.2| 6+ 05 4-3
35+ 2 5+4 30+~ 20|106+09| 30+ 110|115+ 10| 6x0.2 |7.1-31 3+ 4
=1, =15 =
End

2363 Conversion Pack 1

Card A

1 gallon = 8 pints
25 gallons = (8 x 25) pints
25 gallons = 200 pints

continued/




2363 Conversion Pack 1 (cont)

Card B
a)2km | 1) 1350cm
b) 135¢m 2) 0.265km
¢) 26.5mm 3) 2000m
d) 13.5m 4) 1350mm
g) 265m 5) 2.65cm
Card C 1 stone = 14lb
9 stone = (9 x 14)Ib
9 stone = 126lb Liz’s weight is 9 stone 71b = 1261b + 71b = 1341b
Sam’s weight is 1601b
Sam is heavier.
Card D 1ft = 12 inches
4ft = (4 x 12) inches
4ft = 48 inches  4ft 5 inches = (48 + 5) inches
The rug is 53 inches long.
Card E 1 litre = 1000ml

1000ml - 57ml = 943ml
There will be 943 millilitres left in the beaker.

Card F 1kg = 1000g

5kg = (5 x 1000)g

Skg = 5000g Contents of Tim’s bag
Camera 900g
Water (1.2 x 1000) 1200g
Book 350¢g
Crisps 78
Wash Bag (1.4 x 1000) 1400g
Travel guide 600g

Total weight of Tim's bag = 4525g (4.525kg)
Tim’s bag is not too heavy.




2364 Decimal Playing Cards (SMILE)

This pack contains 52 cards which represent 13 different decimals,
0.04,0.08,0.1,0.16,0.25,0.4, 0.5, 0.62, 0.7,0.75, 0.8, 0.92, 1.0, each in 4 ways.

decimal written as a number
decimal written in words

square representation of a decimal

a number line representing a decimal

You can use the playing cards with a number of SMILE activities, but inside the
pack there are some suggested games for you to play.

2365 Higher Decimal Win

You should find that the best cards to turn over are: 0.62, 0.7, 0.75, 0.8, 0.92, 1.0.

2366 Decimal Difference

You should show your results to your teacher.

2367 Sixteen Quadrilaterals

1.

These are the shapes you should have found.

kite parallelogram square irregular quadrilateral

arrowhead trapezium square irregular quadrilateral

arrowhead trapezium square irregular quadrilateral

parallelogram trapezium rectangle irregular quadrilaleral

continued /



2367 Sixteen Quadrilaterals (cont)

2. Itis also possible to find triangles, pentagons, hexagons and heptagons on a 9 point
grid.
e.g. triangle pentagon hexagon _heptagon

2368 Matching Decimals

1. 0.04,0.08,0.1,0.16,0.25,0.4, 0.5, 0.62,0.7,0.75,0.8,0.92, 1.0

2. 0.8islarger

3. 0.651s smaller.

4. 0.8is the largest.

5. You could have written the following decimals which are used on the cards.
0.62, 0.7, 0.75 If you have written a different decimal, check your answer with your
teacher.

6. Some possible answers are:

0.36, 0.37, 0.38, 0.39.
If your decimal is different, check your answer with your teacher.

2369 Decimal Sort

2. Here are examples of three different decimal ‘set’s.
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3. Show your completed sets to your teacher.




2370 Conversion Pack 2

Card A 1 gallon = 4.5 litres

£0.59 per litre 1 gallon costs (£0.59 x 4.5) = £2.655 = £2.66
£0.59 per litre is cheaper than £2.80 per gallon.

Card B 1 litre = 1.75 pints

1.5 litres = (1.5 x 1.75) pints = 2.625 pints
The 1.5 litre bottle contains most liquid.

Card C 1 yard = 3ft = (3 x 12) inches 1inch =2.5cm
1 yard = 36 inches 36 inches = (36 x 2.5)cm

1 yard = 90cm
One metre is longer that one yard.

Card D 8km = 5 miles
1km = 5/8 miles

Paris = 200km = (200 x 5/8)miles =~ 125miles
Lille = 240km = (240 x 5/8)miles = 150 miles

Card E 1kg =2.21b

101b potatoes cost £1.19
11b potatoes costs (£1.19 + 10) = £0.119

1kg = 2.2Ib potatoes cost (2.2 x £0.119) = £0.2618
5kg cost (5 x £0.2618) = £1.309
A Skg bag of potatoes should cost £1.31
Card F 1kg = 1000g = 2.21b 11b = 160z
11b = (1000 + 2.2)g = 454.54¢g
loz = (454.54 + 16)g = 28.409g
6oz = 170.45g

240g is enough cottage cheese for the mackerel pate.

2371 Rounding to 10

1. a) 60 b) 30 c) 50 d) 10
e) 80 f) 60 g) 10 h) 100

2. Play the game sufficient times until you can quickly round each number to the
nearest 10.




2372 Powers of Ten Flags

1.




2373 Queens (Micro /SfW)

Queens
Here is one arrangement of 5 Queens on an 8 by 8 chessboard, so that the Queens are
protecting every square. Your arrangement may be a reflection of the one shown.

4

Avoiding Each Other
Here is one arrangement of 8 Queens on an 8 x 8 chessboard so that no two Queens are
in line with each other. Your arrangement may be a reflection of the one shown.

Investigating Queens
On an 8 x 8 board, the largest number of squares which can be protected with just one

Queen is 28.

There are many questions that can be asked:
*  Can a Queen protect an odd number of squares?
*  What is the smallest number of squares a Queen can protect?

Drawing and numbering the board might help you to see patterns and to decide on the
best possible position for the Queen.

26| 28

24 (26

To find a rule for squares it might help to look at odd and even sized boards, but it may
be easier to get a general rule for rectangles which are not square.




2374 Equivalent Fractions Pairs

1. a) Here are two different sets of equivalent fraction pairs.
LA L
105 10 5
L. S0
2 8 or 3 9

You may have found different sets of equivalent fraction pairs. If you are
unsure whether your equivalent fraction pairs are correct, check them with
your teacher.

b) 7and 9 are not used. or 1 and 7 are not used.

2. a) Thisisone set of 4 equivalent fraction pairs. You may have used the numbers
to create different equivalent fractions.

b)  The numbers not used were:
11, 13, 17 and 19. All prime numbers larger that 10.

2375 Polygons in Circles

1. ¢  £BAC =60° because isometric paper is created from equilateral triangles.
ZABC = 30° because angles of a triangle add up to 180°.

B .

2, a) Equilateral triangle b) Isosceles triangle

continued /



2375 Polygons in Circles (cont)

c)  Arectangle d) Atrapezium

e) Anarrowhead f)  Arhombus

g) Ahexagon
R oyl .

h)

3. If your polygons are similar to those given in question 2, all the shapes are cyclic
except:

the equilateral triangle with one vertex at the centre of the circle.

the isosceles triangle with one vertex at the centre of the circle.

the arrowhead

the rhombus

the irregular hexagon

the pentagon with one vertex at the centre of the circle.




2376 Maths in Your Head (SMILE)

No answers required

2377 TenSprint(SfW)

You may have played the game against the clock. Well done if you managed to run the
200m race in less than 3 minutes.

If the five dice showed these numbers, you could make 6 lots of 10.

2378 Matching Fractions(SfW)

Well done if you managed to score more than 40, especially if you scored this
on Level 2.

2379 Ordering Fractions (SfW)

Well done if you managed to score more than 40, especially if you scored this
on Level 2.

2380 NumberLines (SfW)

Well done if you managed to score 10 out of 10 in all five levels and claim your
SMILE NumberLine Certificate.

2381 NumberLinesD (SfW)

Well done if you managed to score 10 out of 10 in all five levels and claim your
SMILE NumberLineD Certificate.
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